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Section A
Answer any SIX questions (6 x 5 = 30 Marks)
Solve y = (x-a)p - p°.
Solve (D? - 4D + 3)y = e” cos 2x.
Eliminating the arbitrary function from f(x*> + y?, z - xy) =0.
Solve p(1+q?) = q(z-1).

State and prove initial and final value theorem.

00 e—t _ 67215
Evaluate/ — dt.
0 t

r 2
Find L1 S—] .

Find L1

Section B

Answer any THREE questions (3 x 10 = 30 Marks)

. i) Solve x* p? + 3xyp + 2y =0

i) Solve xp® - 2yp + x = 0.

Solve the differential equation by using method of variation of parameter.
2y" + 18y = 6 tan (3t).

i) Solve p?> + q> = x -y
ii) Solve (3z - 4y)p + (4x - 2z)q = 2y - 3x

i) Find L (te"'sint).
i) Find L (sin®2t).
Using Laplace transform, solve the equation
@ - 10 &y + 9y = 5t, y(0)=-1, y'(0)=2
dt? dx ' ' '
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